
5 6 7

M5x14 (x4)
A

M6x14 (x4)
B

Questions or comments?  Please contact us at info@vogels.com 

M6x30 (x4)
C

M8x30 (x4)
D

M8x50 (x4)
E

P

M8x12 (x4)
N

M6x14 (x4)
O

5mm (x1)
P

6mm (x1)
Q

M8x65 (x6)
I

50mm (x6)
J

R (x1) 

K (x1) 

F (x4) 5mm (x8)
G  

15mm (x8)
H

1 2a

I

ø 5mm
(ø 3/16") 

70mm
(2.8")

2b 60mm
(2.4")

ø10mm
(ø 3 /8")  

I J

K

C or D or E

G or H

F

A or B

F

O

5 mm

L (x1) M (x3) 

L
TV MAX 

132lbs-60kg ! 

K
L

4

P

3

N

VESA 200x200



LONG 2100

LONG ARM TV WALL MOUNT
Soporte de pared para TV de brazo largo
Langarm-TV-Wandhalterung
Support mural pour TV à bras long
Supporto da parete per TV a braccio lungo

MOUNTING INSTRUCTIONS
Instrucciones de montaje - Montageanweisungen
Instructions de montage - Istruzioni di montaggio

5

(5/2021 - Distrilec BV, 5628DB, The Netherlands)

Questions or comments?  Please contact us at info@vogels.com Questions or comments?  Please contact us at info@vogels.com 

8

O

9

10

11 12

R

R

LEFT RIGHT

optional: loosen / tighten

R

Q

MAX WEIGHT 
TV

60kg/132lbs

Finished, well done!


